
Year 5 multiplication and division 

mastery task



 What does 50cm look like? Show me with your 

arms. What about 4cm?

 How else could you write this length? How could it 

be written in mm or m?

 How much more wood would you need to make a 

metre?

Some of these questions could form a pre-

assessment



 Create what this could this look like as a picture? How 

else could it look?

 Share the different pictures from around the classroom, 

which one makes most sense to you? Which makes the 

least sense to you – why?

 This is how one child represented the wood and thinks 

there will be none left over, is he right? Why, why not?



 Without calculating the answer, what do you know about 

the extra bit?

 Is it odd or even? How do you know?

 Will there be any left over? How do you know?

 Is 50 in the 4x times table? Can you divide 50 by 4?

 Which multiple of 4 is before 50, and which is after 50?



 Can you calculate the answer to the problem?

 On your picture, which part is showing the answer?

 How could you represent your thought-process as a 

division calculation?

 Could you represent it as a multiplication calculation?



 Have a look at this video of another child working out the 

same problem, why do you think they have made these 

mistakes? (Stop video at 2.13 and 3.15)

 Can you create an array to represent these calculations?



Extending the problem:

 Which numbers would be more difficult to cut into equal pieces? Why are they more difficult?

 Which numbers could be cut into a number of different lengths? Why are these numbers so 
useful/flexible?

 If you wanted to have no wood left over, which type of number would you need to choose? What 
about 1cm left over, 2cm left over 3cm left over? Can you think of a rule to support these? Do 
these rules always work?

 What about 4cm left over?

 Without calculating the answer, can you think of a length of wood, that is longer that 100cm, that 
would also have 2cm left over if it was cut into 4cm pieces? How do you know it would have 2cm 
left over?

 Now investigate cutting the wood into 7cm pieces, can you create                                                             
rules about which numbers would have the following lengths left over:

 0cm

 2cm

 6cm



Linking the domains




